Improving the Accuracy of Firm Failure Forecasting Using Non-Financial Variables: The Case of Croatian SME

Kuvek, Tamara; Pervan, Ivica; Pervan, Maja

Source / Izvornik: Engineering Proceedings, 2023, 39

Journal article, Published version Rad u časopisu, Objavljena verzija rada (izdavačev PDF)

https://doi.org/10.3390/engproc2023039062

Permanent link / Trajna poveznica: https://urn.nsk.hr/urn:nbn:hr:124:035164

Rights / Prava: <u>Attribution-ShareAlike 4.0 International/Imenovanje-Dijeli pod istim uvjetima 4.0</u> međunarodna

Download date / Datum preuzimanja: 2025-02-22

Repository / Repozitorij:

REFST - Repository of Economics faculty in Split









Proceeding Paper Improving the Accuracy of Firm Failure Forecasting Using Non-Financial Variables: The Case of Croatian SME⁺

Tamara Kuvek¹, Ivica Pervan^{2,*} and Maja Pervan²

- ¹ Erste&Steiermärkische Bank d.d., I. Lucica 2, 10 000 Zagreb, Croatia; tamara.pds@gmail.com
- ² Faculty of Economics, Business and Tourism, University of Split, Cvite Fiskovica 5, 21 000 Split, Croatia; mpervan@efst.hr
- * Correspondence: pervan@efst.hr; Tel.: +385-214430639
- ⁺ Presented at the 9th International Conference on Time Series and Forecasting, Gran Canaria, Spain, 12–14 July 2023.

Abstract: Empirical findings based on a bivariate logistic regression model with two SME categories (successful and failed) indicate that by adding non-financial indicators to the model based on financial variables, the accuracy of forecasting increases significantly. Namely, the total classification error decreases by an average of 26.99%, while the AUROC value increases by an average of 7.33%. In the additional model, with three firm categories (successful, sensitive, and failed), the findings reveal that one financial variable (self-financing) and three non-financial variables (orderly settlement of obligations, export, and age) significantly explain the occurrence of the early stage of SME failure.

Keywords: SME; firm failure; non-financial variables

1. Introduction

Firm failure modeling has been an important research topic for many years, for both academia and practitioners in banks, investment funds, and other institutions. Firm failure often has a wide range of negative effects on numerous subjects, especially for employees, investors, creditors, and suppliers. Every new economic crisis, such as Global Financial Crisis (2007–2008), Great Recession (2008–2012), or the recent COVID-19-caused economic crisis (2020), brings this issue into the spotlight again.

The problem of firm failure has been an intriguing issue in Croatia for many years, primarily due to the large number of insolvent companies. According to official statistical data (www.dzs.hr), there were 137,664 companies in Croatia at the end of 2022, while current data (February 2023) from the state agency FINAs database (www.infobiz.hr, accessed on 5 February 2023.) reveal that 13,901 companies were insolvent because of blocked accounts (EUR 406.58 million). In other words, the Croatian business environment is quite risky since 10.5% of companies have problems meeting their due liabilities. The riskiness of doing business in Croatia was confirmed by the World Bank's Doing Business data in 2020 (https://www.worldbank.org/en/home, accessed on 14 January 2023.), as only 35.2% of receivables were collected in insolvency proceedings. For comparison, the percentage of receivables collection in insolvency proceedings is 90% in Slovenia, 67.5% in the Czech Republic, and 79.8% in Germany, while the average in OECD countries is 70.2%. The reason for a low percentage of claims collection in Croatian insolvency proceedings is the late opening of proceedings and the fact that many companies enter bankruptcy procedures with negative equity. In such a business environment, predicting legal failure, i.e., bankruptcy, is not very useful, but it is much more useful to create a model for predicting firm insolvency and the early stages of firm failure [1]. This research emphasizes the modeling of firm failure in the SME segment due to the large number of such companies in Croatia and their relative importance in the national economy. According to the 2021



Citation: Kuvek, T.; Pervan, I.; Pervan, M. Improving the Accuracy of Firm Failure Forecasting Using Non-Financial Variables: The Case of Croatian SME. *Eng. Proc.* **2023**, *39*, 62. https://doi.org/10.3390/ engproc2023039062

Academic Editors: Ignacio Rojas, Hector Pomares, Luis Javier Herrera, Fernando Rojas and Olga Valenzuela

Published: 5 July 2023



Copyright: © 2023 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/). aggregated data retrieved from the FINAs database (www.infobiz.hr), the SME sector in Croatia comprises 55.4% of total assets and generates 58.3% of revenue.

Our study adds to the existing literature in several ways. Firstly, we developed a unique set of non-financial variables to explore how much these variables can improve firm failure forecasting. Secondly, we developed a model for the prediction of the early stage of the firm failure process, which enables timely decision making to avoid credit losses. The estimated multinomial logistic regression model indicates that one financial variable (self-financing) and three non-financial variables (settlement of obligations, export, and firm age) significantly contribute to explaining the early stage of SME failure. Finally, we conducted research for the sample of Croatian SMEs for which this kind of modeling is almost nonexistent. In addition to confirming the theoretical assumptions about the usefulness of non-financial variables, the designed model also has the possibility of practical use, especially in commercial banks.

2. Literature Review

There is a large body of literature dealing with firm failure from different perspectives; however, the main goal of almost all papers is to design a prediction model with the lowest possible forecasting error. Early studies [2–5] put focus on the use of financial indicators in the prediction of firm failure. Given that financial indicators are based on financial statements, such studies explore the usefulness of accounting information in the context of crediting decisions and firm failure modeling. As a general conclusion of the mentioned early studies, as well as many recent studies [6-9], one can point out the finding that financial indicators are useful in predicting business failure. However, studies that analyzed the predictive power of financial indicators over time showed that as the accounting data age (t-2, t-3...), the predictive power of financial indicators declines sharply. The accuracy of forecasting over a long period directly depends on the stationarity of the data, which implies a stable correlation between the variables in the forecast period. Empirical research has shown that this is difficult to achieve, which is emphasized by Du Jardin and Severin [10], who analyzed 34 studies and determined that the accuracy of the model decreases by 15% in 3 years before the bankruptcy. Pervan et al. [1] report similar findings in a more recent study.

Over the years, one direction of firm failure research focuses on SMEs. Namely, the modeling of firm failure for large listed companies is not identical to modeling for SME failure. The first such study was published in the US by Edminister [11], followed by numerous recent studies for SME samples. Edminister designed the model with seven financial ratios (different from Altman's Z score ratios) with a classification accuracy of 93%. Altman and Sabato [12] developed the SME failure model and compared it with Altman's Z'' (model for unlisted firms). A comparison of the SME failure prediction model and the Z'' model indicated that the SME model outperformed Altman's Z'' model by 30%. Similar research focused on SMEs can be found for SMEs from Portugal [13], Russia [14], Belgium [15], Estonia [16], etc.

To improve the predictive power of forecasting models, authors such as Gudmundson [17], Grunert et al. [18], Altman et al. [19], Pervan and Kuvek [20], Laitinen [21], Habachi and Benbachir [22], and Altman et al. [23] use non-financial variables. The general finding from most of the mentioned studies is that the inclusion of non-financial indicators in addition to financial indicators improves the accuracy of predicting firm failure. This can be explained by the characteristics of qualitative variables that do not change over time (or only partially change) and achieve more stable correlations as compared to financial variables. Previous papers often use firm age, firm size, industry, and region as a set of non-financial variables since these data are publicly available.

3. Research Design

The research sample included 4639 SME clients of a commercial bank, while the dataset incorporated data from the period 2011–2015. An important element in firm

failure modeling is the definition of the dependent variable, i.e., the firm failure variable. In countries such as Croatia, where bankruptcies are opened at the very late stage of the failure process and where the percentage of receivables collection in bankruptcy is quite low, it is much more useful to predict the early stage of firm failure than legal failure—bankruptcy. Therefore, the total sample of SMEs was divided into three categories (successful, sensitive, and failed) depending on the bank's internal credit rating and regularity in the settlement of due obligations (Table 1). The group of successful firms includes only those firms that have an intact high credit rating and that have not had any delays in settling their obligations. A firm entered the sensitive category (early stage of firm failure) if it had a reduced credit rating and a delay in meeting obligations for a duration between 30 and 90 days. Finally, the firm was classified as failed if it had the lowest credit rating with delays in the settlement of obligations longer than 90 days, accompanied by a recorded amount of loss for the bank.

Table 1. Sample structure.

SME Category	Number of Observations	
Successful	3046	
Sensitive	779	
Failed	814	
Total	4639	

Following the example of similar studies, this research also uses accounting information and financial ratios as influential variables for predicting SME failure. Modern accounting frameworks (IFRS, FASB, etc.) point out that accounting information should be useful for investing and crediting decisions. Previous studies generally confirmed that accounting information and resulting financial ratios are useful as independent variables for firm failure modeling. However, some papers such as [1,3,10] point out that older accounting information results in lower prediction accuracy. In the segment of financial variables, 14 financial ratios were used, which were calculated as shown in Table 2:

Table 2. Financial variables.	Table	2.	Financial	variables.
-------------------------------	-------	----	-----------	------------

Financial Variable	Acronym	Description
Return on equity	ROE	Net earnings/Equity
Return on assets	ROA	Net earnings/Assets
Operating margin	OM	Operating earnings/Sales
EBITDA to assets	EBITDAA	EBITDA/Assets
Sales to equity	SE	Sales/Equity
Operating cash flow to assets	OCFA	Net operating cash flow/Assets
Working capital	WC	Working capital/Assets
Current ratio	CR	Current assets/Current liabilities
Quick ratio	QR	Current assets-Stock/Current liabilities
Debt to assets	DA	Total debt/Assets
Self-financing	SF	Equity/Assets
Short-term debt to assets	STDA	Short-term debt/Assets
Debt to EBITDA	DEBITDA	Total debt/EBITDA
Operating cash flow to debt	OCFD	Net operating cash flow/ Total debt

To improve forecasting accuracy, further modeling of SME failure includes nonfinancial variables. The starting assumption is that non-financial variables (due to their characteristics) only partially change over time, which enables them to be more stable failure predictors in comparison with financial variables. A unique dataset obtained from a Croatian commercial bank enabled the development of a complex prediction model, which combines financial and non-financial variables. Therefore, this research is one of the few whose modeling includes a battery of non-financial variables, as described in Table 3.

Non-Financial Variable	Acronym	Description
Managerial experience	ME	Three groups (<5 years, 5–10 years, >10 years)
Business diversification	BD	Three groups (one business, two or more businesses within one industry, businesses in different industries
Settlement of obligations	SO	Four groups (late payment up to 30 days, late payment from 30 to 60 days, late payment from 60 to 90 days, late payment for more than 90 days)
Size	S	Ln of assets
County	С	One of 21 counties in Croatia
Export	EX	Four groups (export sales 0%, up to 30% export sales, export sales from 30% to 60%, export sales more than 60%)
Age	А	Three groups (<5 years, 5–10 years, >10 years)

Table 3. Non-financial variables.

Regarding the use of statistical methods, a review of previous studies indicates that many papers often followed Altman [3] and used multiple discriminant analysis (MDA). Here, it is important to point out that MDA has very strict requirements (normality of explanatory factors, equal variance–covariance matrices, prior groups' probabilities) which often are not met by data. After Ohlson's [24] seminal study, the majority of later studies started to use logit/probit/logistic regression since this method is much more robust. Therefore, for this study, we employed binary logit regression and multinomial logit regression.

4. Research Results

The first logit model (Table 4) includes only financial variables, and given a large number of financial variables, it was important to control for the potential problem of multicollinearity. Due to the high correlation (r > 0.8) with other variables, two variables (STDA and DA) were omitted from further analysis. In this model, the dependent variable, SME failure, can take only one of two values (failed—1; successful—0). The application of the Prabhakaran algorithm [25] in the R application resulted in the following final model with financial variables.

Variable	Estimate	St. Error	Z Value
Const.	0.2150	0.2289	0.939
WC	-2.0607 ****	0.5271	-3.909
SF	-5.4357 ****	0.7314	-7.431
OM	-2.8503 ***	0.8898	-3.203
ROE	-0.3980	0.2327	-1.710

Table 4. Bivariate logit model with only financial variables (FVs).

Significances: ***** $p \approx 0$; *** p < 0.001.

Three statistically significant financial variables (WC, SF, and OM) had a negative sign, which, under theoretical expectations, indicates that greater liquidity, self-financing, and profitability reduce the probability of failure. However, a model based only on financial variables shows the instability of predictions because model error increased over time (from 7.91% in 2015 to 13.27% in 2011). The same conclusion can be drawn for the AUROC value, which decreased over time (from 89.34% in 2015 to 86.36% in 2011).

To improve prediction accuracy and reduce the model instability, in the next step, we added non-financial variables from Table 3. Non-financial variables (except for the size variable) were first transformed into multi-level factor variables [26] with the initial category dropped from the regression (base category). The Prabhakaran algorithm and

R application estimated model were used with financial and non-financial variables, as presented in Table 5.

Variable	Estimate	St. Error	Z Value
Const.	2.1976	1.8158	1.210
WC	-1.8168 **	0.8411	-2.160
SF	-4.0941 ****	0.9895	-4.138
OM	-3.8662 ***	1.4867	-2.600
S	-0.3061	0.2678	-1.143
A 5–10 y	-2.0328 ****	0.6100	-3.333
A > 10 y	0.3079	0.8719	0.353
ME5-10y	-1.5885 **	0.7128	-2.228
ME > 10 y	-1.8246 **	0.8042	-2.269
SO 30–60 d	-0.0903	1.0309	-0.088
SO 60-90 d	0.9045	0.9897	0.917
SO > 90 d	3.7638 ****	0.6429	5.854

Table 5. Bivariate logit model with financial and non-financial variables (F&NFV).

Significances: **** $p \approx 0$; *** p < 0.001; ** p < 0.01.

Of seven non-financial variables included in the modeling, three were found to be statistically significant (age, management experience, and obligation settlement). As expected, the aging of SMEs (5–10 years) and longer management experience (>5 years) reduce the probability of SME failure. In addition, late obligation payments for more than 90 days significantly explain SME failure. Empirical findings based on a bivariate logit model (successful and failed firms) indicate that by adding non-financial indicators into the model based on financial variables, the accuracy of forecasting increases significantly (Table 6). In particular, the total classification error decreases by an average of 26.99%, while the AUROC value increases by an average of 7.33%.

Table 6. Comparison of model error and AUROC.

		Error (%)	AUROC (%)	
Year	FV	F&NFV	FV	F&NFV
2011	7.91	5.04	89.34	97.20
2012	7.00	4.74	90.99	96.65
2013	9.27	6.36	89.20	96.61
2014	11.21	7.65	86.87	95.04
2015	13.27	12.84	86.36	89.73

In the additional model, the dependent variable, SME failure, was grouped into three categories: successful (0Y), sensitive (1Y), and failed firms (2Y). The test for combining dependent categories [27] starts from the null hypothesis H_0 , which asserts that no independent variable significantly predicts the *m* category of the dependent variable in relation to the *n* category of the dependent variable, and that categories *m* and *n* cannot be distinguished from each other in relation to the variables in the model. All combinations of the categories of the dependent variable (Table 7) in the estimation sample have statistically significant Chi2 (*p* < 0.05) values, which indicates that the categories of the dependent variables, the conditions are met for the application of the multinomial approach.

	Chi2	df	<i>p</i> > Chi2
Successful and sensitive	2113.08	10	0.0001
Successful and failed firms	3720.04	10	0.0001
Sensitive and failed firms	837.44	10	0.0001

Table 7. Test for combining dependent categories.

Particular interest was in the sensitive firms' category (1Y) because it is interesting to investigate whether entering the early stage of firm failure prediction can be forecasted with the proposed set of financial and non-financial variables. The estimated multinomial logit regression model (Table 8) indicates that one financial variable (self-financing) and three non-financial variables (orderly payment of obligations, export, and age of the company) significantly explain the occurrence of the early stage of firm failure. The direction of the influence of quantitative and qualitative variables on the probability of the occurrence of the early stage of failure (1Y) concerning the successful category (0Y) is in line with theoretical expectations. The regression coefficients of self-financing (SF) and the qualitative variables' regularity of settlement of obligations (SO) and export (EX) have a negative sign, which indicates that the probability of the early stage failure is higher in SMEs that have a smaller share of self-financing, which are not exporters and which are late in settling their due obligations. The positive sign with the qualitative variable age (A) suggests that SMEs that have been present on the market for more than 5 years are less likely to enter the early stage of failure.

	Coefficient	St. Error	Z Value	р	
0Y	Base Outcome				
1Y					
SF	-0.6096	0.2238	-2.72	0.006	
OCFD	-0.0469	0.0412	-1.14	0.254	
BD-MBI	-0.7155	0.2413	-0.30	0.767	
BD-MBMI	-0.5302	0.3135	-1.69	0.091	
SO 30-60 d	4.4176	0.2054	21.51	0.000	
SO 60-90 d	4.8246	0.2226	21.67	0.000	
SO > 90 d	6.5753	0.5190	12.67	0.000	
EX < 30%	-0.7165	0.2003	-3.58	0.000	
EX 30-60%	-0.8018	0.3646	-2.20	0.028	
EX > 60%	-0.3717	0.3107	-1.20	0.232	
A 5–10 y	-0.6534	0.2221	-2.94	0.003	
A > 10 y	-0.9005	0.3541	-2.54	0.011	
Const	-1.9046	0.1574	-12.10	0.000	
2Y					
SF	-0.6185	0.2228	-2.71	0.007	
OCFD	-0.2855	0.0907	-3.15	0.002	
BD-MBI	-0.8810	0.2807	-3.14	0.002	
BD-MBMI	-1.6507	0.4590	-3.60	0.000	
SO 30-60 d	3.6686	0.5651	6.49	0.000	
SO 60-90 d	6.0407	0.3984	15.16	0.000	
SO > 90 d	10.3727	0.5884	17.63	0.000	
EX < 30%	-1.1166	0.3018	-3.70	0.000	
EX 30-60%	-1.0661	0.5791	-1.84	0.066	
EX > 60%	-0.4927	0.5031	-0.98	0.327	
A 5–10 y	-1.0914	0.2620	-4.17	0.000	
A > 10 y	-0.5193	0.4147	-1.25	0.210	
Const	-3.7462	0.3066	-12.22	0.000	

Table 8. Multinomial panel with financial and non-financial variables.

Log likelihood = -1591.53; N = 4639.

The highest classification power, exp (b), in predicting the sensitive SME (1Y) category has the variable regularity of settlement of obligations (SO), while the exp (b) values of

the other variables are much smaller (age, export, and self-financing). For example, the probability of the sensitive SME status (1Y) compared to the successful SME status (0Y) is 717.1 times higher if the delay in the settlement of obligations increases from "SO < 30 d" (base category) to "SO > 90 d".

5. Conclusions

The results of this research confirm that the inclusion of non-financial variables in addition to financial variables into SME failure modeling improves prediction accuracy. By adding non-financial variables, total classification error decreases by an average of 26.99%, while the AUROC value increases by an average of 7.33%. The evaluated model revealed that the most important financial variables are working capital, self-financing, and operating margin. The signs for all three financial variables were negative, which, in accordance with theoretical expectations, indicates that greater liquidity, self-financing, and profitability reduce the probability of SME failure. Of all the non-financial variables tested, only age, management experience, and obligation settlement were found to be statistically significant. The aging of SMEs (5–10 years) and longer management experience (>5 years) reduce the probability of firm failure. According to theoretical expectations, a lower degree of regularity in settling obligations, i.e., late obligation payment for more than 90 days, significantly contributes to SME failure. Additional modeling, based on a multinomial logit model and three SME categories (successful, sensitive, and failed), revealed that the self-financing variable and three non-financial variables (settlement of obligations, export, and age of the company) significantly explain the occurrence of the early stage of firm failure. The findings of this research confirm the theoretical viewpoints on the usefulness of non-financial indicators in predicting SME failure and can serve as guidelines for commercial banks when developing models for assessing the credit risk of SME clients.

Author Contributions: T.K., I.P. and M.P. authors contributed equally. All authors have read and agreed to the published version of the manuscript.

Funding: This research received no external funding.

Institutional Review Board Statement: Not applicable.

Informed Consent Statement: Not applicable.

Data Availability Statement: The dataset is not available without special permission from the commercial bank that owns the data of its corporate clients.

Conflicts of Interest: The authors declare no conflict of interest.

Disclaimer: Findings from this study are the author's views and not the Erste&Steiermärkische Bank d.d. views on the investigated issue of SME failure.

References

- Pervan, I.; Pervan, M.; Kuvek, T. Firm Failure Prediction: Financial Distress Model vs. Traditional Models. *Croat. Oper. Res. Rev.* 2018, 9, 269–279. Available online: https://hrcak.srce.hr/file/310571 (accessed on 18 December 2022). [CrossRef]
- 2. Beaver, W. Financial ratios as predictor of failure, empirical research in accounting: Selected studies 1966. *J. Account. Res.* **1967**, *4*, 71–111. [CrossRef]
- 3. Altman, E.I. Financial ratios, discriminant analysis and the prediction of corporate bankruptcy. *J. Financ.* **1968**, *23*, 589–609. [CrossRef]
- 4. Deakin, E.B. A Discriminant Analysis of Predictors of Business Failure. J. Account. Res. 1972, 10, 167–179. [CrossRef]
- 5. Taffler, R.J. Forecasting Company Failure in the UK using Discriminat Analysis and Financial Ratio Data. J. R. Soc. **1982**, *3*, 342–358.
- Lukason, O.; Laitinen, E.K. Firm failure processes and components of failure risk: An analysis of European bankrupt firms. *J. Bus. Res.* 2019, *98*, 380–390. Available online: https://www.sciencedirect.com/science/article/abs/pii/S0148296318303126 (accessed on 22 October 2022). [CrossRef]

- Smiti, S.; Soui, M. Bankruptcy Prediction Using Deep Learning Approach Based on Borderline SMOTE. *Inf. Syst. Front.* 2020, 22, 1067–1083. Available online: https://link.springer.com/article/10.1007/s10796-020-10031-6 (accessed on 22 October 2022). [CrossRef]
- Tong, Y.; Serrasqueiro, Z. Predictions of failure and financial distress: A study on Portuguese high and medium-high technology small and mid-sized enterprises. J. Int. Stud. 2021, 14, 9–25. Available online: https://www.proquest.com/docview/2546876504 ?pq-origsite=gscholar&fromopenview=true (accessed on 5 December 2022). [CrossRef]
- 9. Crespí-Cladera, R.; Martín-Oliver, A.; Pascual-Fuster, B. Financial distress in the hospitality industry during the COVID-19 disaster. *Tour. Manag.* 2021, *85*, 104301. [CrossRef]
- 10. Du Jardin, P.; Severin, E. Predicting corporate bankruptcy using a self-organizing map: An empirical study to improve the forecasting horizon of a financial failure model. *Decis. Support Syst.* **2011**, *51*, 701–711. [CrossRef]
- 11. Edminster, R.O. An Empirical Test of Financial Ratio Analysis for Small Business Failure Prediction. *J. Financ. Quant. Anal.* **1972**, 7, 1477–1493. [CrossRef]
- 12. Altman, E.I.; Sabato, G. Modeling Credit Risk for SMEs: Evidence from U.S. Market. *Abacus* 2007, 43, 332–357. Available online: https://onlinelibrary.wiley.com/doi/abs/10.1111/j.1467-6281.2007.00234.x (accessed on 24 February 2023). [CrossRef]
- Pindado, J.; Rodrigues, L.F. Parsimonious models of financial insolvency in small companies. *Small Bus. Econ.* 2004, 22, 51–66.
 [CrossRef]
- 14. Lugovskaya, L. Predicting default of Russian SMEs on the basis of financial and non-financial variables. *J. Financ. Serv. Mark.* **2009**, *14*, 301–313. [CrossRef]
- 15. Cultrera, L.; Bredart, X. Bankruptcy prediction: The case of Belgian SMEs. *Rev. Account. Financ.* **2016**, *15*, 101–119. Available online: https://www.emerald.com/insight/content/doi/10.1108/RAF-06-2014-0059/full/html (accessed on 2 May 2022). [CrossRef]
- 16. Susi, V.; Lukason, O. Corporate governance and failure risk: Evidence from Estonian SME population. *Manag. Res. Rev.* **2019**, 42, 703–720. [CrossRef]
- 17. Gudmundsson, S.V. Airline distress prediction using non-financial indicators. J. Air Transp. 2002, 7, 4–24.
- Grunert, J.; Norden, L.; Weber, M. The role of non-financial factors in internal credit ratings. J. Bank. Financ. 2005, 29, 509–531. [CrossRef]
- 19. Altman, E.I.; Sabato, G.; Wilson, N. The Value of Non-Financial Information in SME Risk Management. 2008. Available online: https://ssrn.com/abstract=1320612 (accessed on 18 December 2022).
- 20. Pervan, I.; Kuvek, T. The relative importance of financial ratios and nonfinancial variables in predicting of insolvency. *Croat. Oper. Res. Rev.* **2013**, *13*, 187–197. Available online: https://hrcak.srce.hr/97397 (accessed on 18 December 2022).
- Laitinen, E.K. Financial and non-financial variables in prediction failure of small business reorganization. *Int. J. Account. Financ.* 2013, *4*, 1–34. Available online: https://www.inderscienceonline.com/doi/epdf/10.1504/IJAF.2013.053111 (accessed on 4 December 2022). [CrossRef]
- 22. Habachi, M.; Benbachir, S. Combination of linear discriminant analysis and expert opinion for the construction of credit rating models: The case of SMEs. *Cogent Bus. Manag.* 2019, *6*, 1685926. [CrossRef]
- Altman, E.I.; Iwanicz-Drozdowska, M.; Laitinen, E.K.; Suvas, A. A Race for Long Horizon Bankruptcy Prediction. *Appl. Econ.* 2020, 52, 4092–4111. [CrossRef]
- 24. Ohlson, J.A. Financial ratios and the probabilistic prediction of bankruptcy. J. Account. Res. 1980, 18, 109–131. [CrossRef]
- Prabhakaran, S. Model Selection Approaches. Available online: http://r-statistics.co/Model-Selection-in-R.html (accessed on 3 April 2023).
- UCLA, Factor Variables. R Learning Modules. Available online: https://stats.idre.ucla.edu/r/modules/factor-variables/ (accessed on 3 April 2023).
- Williams, R. Post-Estimation Commands for MLogit. Available online: https://www3.nd.edu/~rwilliam/stats3/Mlogit2.pdf (accessed on 3 April 2023).

Disclaimer/Publisher's Note: The statements, opinions and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of MDPI and/or the editor(s). MDPI and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions or products referred to in the content.